
L2(81).21 (mod 5)

blocks defect matrix

G : 1 1 4× 2
2 1 4× 2
3 1 4× 2
4 1 4× 2
5 0 1601 = χ4+, ϕ4+

6 0 1602 = χ6+, ϕ6+

7 0 1603 = χ8+, ϕ8+

8 0 1604 = χ10+, ϕ10+

9 0 1605 = χ12+, ϕ12+

10 0 1606 = χ14+, ϕ14+

11 0 1607 = χ16+, ϕ16+

12 0 1608 = χ18+, ϕ18+

13 0 1609 = χ20+, ϕ20+

14 0 16010 = χ22+, ϕ22+

15 1 4× 2
16 1 4× 2
17 1 4× 2

blocks defect matrix

2.G : 18 0 401 = χ44,0, ϕ28,0

19 0 402 = χ44,1, ϕ28,1

20 0 403 = χ45,0, ϕ29,0

21 = 20 0 404 = χ45,1, ϕ29,1

22 0 16011 = χ46+, ϕ30+

23 0 16012 = χ48+, ϕ32+

24 0 16013 = χ50+, ϕ34+

25 0 16014 = χ52+, ϕ36+

26 0 16015 = χ54+, ϕ38+

27 0 16016 = χ56+, ϕ40+

28 0 16017 = χ58+, ϕ42+

29 0 16018 = χ60+, ϕ44+

30 0 16019 = χ62+, ϕ46+

31 0 16020 = χ64+, ϕ48+

32 1 5× 1
33 1 5× 1

Block 1: ϕ1,0 ϕ24,1

11 = χ1,0 1 .
812 = χ24,1 . 1
824 = χ26,1 1 1
826 = χ27,1 1 1

ϕ1,0 = 11
ϕ24,1 = 812

Block 2: ϕ1,1 ϕ24,0

12 = χ1,1 1 .
811 = χ24,0 . 1
823 = χ26,0 1 1
825 = χ27,0 1 1

ϕ1,1 = 12
ϕ24,0 = 811

Block 3: ϕ2,0 ϕ3,1

411 = χ2,0 1 .
414 = χ3,1 . 1

8212 = χ30,1 1 1
8214 = χ31,1 1 1

ϕ2,0 = 411
ϕ3,1 = 414



Block 4: ϕ2,1 ϕ3,0

412 = χ2,1 1 .
413 = χ3,0 . 1

8211 = χ30,0 1 1
8213 = χ31,0 1 1

ϕ2,1 = 412
ϕ3,0 = 413

Block 15: ϕ25,0 ϕ25,1

821 = χ25,0 1 .
822 = χ25,1 . 1
1641 = χ32+ 1 1
1642 = χ34+ 1 1

ϕ25,0 = 821
ϕ25,1 = 822

Block 16: ϕ26,0 ϕ26,1

827 = χ28,0 1 .
828 = χ28,1 . 1
1643 = χ36+ 1 1
1646 = χ42+ 1 1

ϕ26,0 = 823
ϕ26,1 = 824

Block 17: ϕ27,0 ϕ27,1

829 = χ29,0 1 .
8210 = χ29,1 . 1
1644 = χ38+ 1 1
1645 = χ40+ 1 1

ϕ27,0 = 825
ϕ27,1 = 826

Block 32: ϕ50+

1647 = χ66+ 1
1649 = χ70+ 1
16412 = χ76+ 1
16413 = χ78+ 1
16416 = χ84+ 1

ϕ50+ = 1641



Block 33: ϕ52+

1648 = χ68+ 1
16410 = χ72+ 1
16411 = χ74+ 1
16414 = χ80+ 1
16415 = χ82+ 1

ϕ52+ = 1642


